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Which of the following is NOT true about force?

A) Forceis a push or pull

B) Force is a scalar quantity.

C) Force can cause an object to accelerate F=ma
)

D) Force is measured in Newtons (N).

Which of the following is NOT a cause of acceleration?

A) A net external force
B) Gravity

C) Balanced forces
)

D) Friction

Which of the following is True?

B\ A
A Ais agent B is system A~ £,
N’
B Ais system Bis agent
C Ais system B is system
D Ais agent B is agent
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Which of the following is Field force?

A
A
A
B ", | 8
T
C
A 4
D C

the following is an example of a field force?

A) Friction

B) Normal force

C) Gravitational force
)

D) Tension

From the following curve, what is the mass of the object?

A- 2.06 Kg | 10 | L7
2" 0
B- 0.94 Kg 2 75 |
C- 1.06 Kg 5 Pl
8 5 P
D- 10 Kg L v
g l
g 25 /, ,
ol [T

2 4 6 8 10 12 Force (N)

Mr. Adham Zewin - 0505084733




G10 Gen Inspire physics - EOT 2 Aqilgdl) dzal pall — ) el Jadl) T2-2024 - 2025

Which of the following is the correct formula for Newton's Second Law of Motion?

A) Fret = mv
B) Fret =ma
C) Free=m/a
D) Fret=Vv/m

If the total mass of sled and the two boxes is 20 Kg, Find the acceleration

Force exerted by
first dog on sled

A) 80 m/s?
B) 20 m/s?

D

C) 4 m/s?
) 40 m/s?

What is another name for Newton’s First Law of Motion?

A) Law of Acceleration
B) Law of Momentum
C) Law of Inertia

)
D) Law of Force

Mr. Adham Zewin - 0505084733
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What happens to an object in motion if the net force acting onitis zero?

A) It will stop immediately.

B) It will continue moving in a straight line with constant speed.

C) It will gradually slow down.

D) It will change direction.

Which of the following best defines inertia?

A) The force that causes an object to move
)

B) The resistance of an object to changes in its motion

C) The energy required to stop an object

)
D) The speed of an object in motion

According to Newton’s First Law, when is an object in equilibrium?

A) When it is accelerating

B) When the net force acting on it is zero

C) When itis moving in a circular path
)

D) When multiple forces act on it in different directions

Which of the following is true about an object in equilibrium?

A) It must always be at rest.
B) When multiple forces act on it in different directions

C) It must always experience multiple forces.

D) It can be moving, but only if its velocity is constant.

Mr. Adham Zewin - 0505084733
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Which of the following is NOT true about an object's weight?

A) Weight is the force exerted on an object due to gravity.

B) An object's weight can change depending on its location in the universe.
C) Weight is a measure of an object's mass.

D) itis given by W = mg where g is the gravitational acceleration

You place a 4.0-kg watermelon on a spring scale that measures in newtons. What

is the scale’s reading? (The scale reads the weight of the watermelon)

v

=5
39N g

9.8N
38N

R N

You place a 22.50-kg television on a spring scale. If the scale reads 235.2 N, what

is the gravitational field?

A) 9.8 N/kg
B) 10.5 N/kg
C) 11.5 N/kg
D) 9.5 N/kg

Mr. Adham Zewin - 0505084733
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What does the drag force depend on?

Direction
A) The speed of the object only of motion
B) The properties of the object and the fluid

i GEgEOEEOEEEEEEES “
C) The temperature of the object *

) Drag force (F,)
D) The color of the object

How does the speed of the object affect the drag force?

A) It has no effect on the drag force.
B) As the speed of the object increases, the drag force increases.

C) As the speed of the object increases, the drag force decreases.
)

D) Speed only affects the drag force in water, not in air.

Which of the following represent an object reached terminal velocity?

v AFarag v Farag
A } B l
Fq Fy
Farag Farag
C i D v
F, ,I Fq
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Which of the following is the correct definition of terminal velocity?

a) The velocity at which an object starts moving freely in air

b) The velocity at which the gravitational force is greater than the drag force

c) The constant velocity reached when the drag force equals the force of gravity
)

d) The velocity at which an object stops moving downward

What happens when a falling object reaches its terminal velocity?

a) The object stops moving downward
b) The object moves at a constant velocity because the net force is zero
c) The gravitational force becomes greater than the drag force

)

d) The drag force disappears completely

What happens immediately after a skydiver opens his parachute?

a) The skydiver stops moving instantly.
b) The gravitational force becomes greater than the air resistance.
c) The skydiver continues falling at the same speed.

)

d) The skydiver accelerates upward due to increased air resistance.

Mr. Adham Zewin - 0505084733
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A 75 kg skydiver reaches terminal velocity while falling. Apply Newton’s Second

Law to calculate the drag force acting on the skydiver when terminal velocity is

reached. (Take gravitational acceleration, g = 9.8 m/s?)

A- 735N
B- 7.65N
C-75.0N
D- 634N

Which of the following is the correct mathematical representation of Newton's

Third Law?

A softball has a mass of 0.18 kg. What is the gravitational force on Earth due to the

ball, and what is Earth’s resulting acceleration? Earth’s mass is 6.0 x 10** kg

a)1.764 N, 2.94 x 107>° m/s?
b) 0.18 N, 9.8 m/s>

)

)
c) 1.764 N, 0 m/s’
d)9.8N, 6.0 x 10** m/s®

F=mxg=018x98

F=1764N

F 1.764
1= — = D ———
M 6.0 x 10*

Mr. Adham Zewin - 0505084733
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For a girl with a mass of 50 kg standing on a scale in a moving elevator, what is the

magnitude of her acceleration when she is weightless?"

0080 aland) A A o Ladie ge jludi laka e« jata druan B ) e e 50 kg Lgalis Cals oL

0 a=9.8m/s?
O a=0m/s?
O a=1m/s?
0 a=50m/s?

When Yousef pulls a box along the floor as shown in the figure, in which direction does

the force of friction act? _
¢ MY 58 igialadl ol 8 (JSAN 8 LS i Y1 e 18 gaiia Clus gy asa Ladic

=

4
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If the net force acting on an object is decreased, what happens to its acceleration?
¥ _::....'_':n.llll KT E:Ju .J|;E.n]| Gaasy |3la ‘l:""‘";“._e']'c' E.Js}ﬂjll E}H'I Aass Jll."li.n L_J.:ﬂ.ﬂ.]‘l ad 13

o It decreases

o Itincreases

o It doesn't change

o It might increase or decrease

-

o=flihy o
Ay o
Yo

=il sl w B o

Which of the following is not true about weightlessness?

00l alaadl dlls & faa = JJJ Las éi

The weight actually equals zero
The apparent weight equals Zero
The scale reading is Zero

Contact forces on the object equal Zero
or decrease

blad il (g5l 05l

1 i g sb gl 05 )

Dha A Gl el 36 B

e (5 5 pasnll e el (5
dﬁ’j }i

A bucket of water with weight of SON 1s pulled up using a rope. The bucket is
moving at a constant velocity. what 1s the tension in the rope?

558 e g Lo Al Ae jun glall o jatd Jas aladiuly ol ) SON 48 )5 elall (s sy comsd

a.25N
b.50N
c. 100N

d.0.0N

el L 2l

P
.f./ \
.= - il:,:
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Two dogs are pulling a sled carrying food packages. One dog pulls with a force
of 40 N and the other pulls with a force of 60N as shown in the figure. The
total mass of the sled and the packages 1s 50 kg. What 1s the acceleration the

sled?

Bk cn JAY) 5 (40N) B oy (Sl aai alak < ge Jea3AaY ) Sl LK
a2y il dlae & L (50kg) ) saall g daY 31 4S)) Al JSA) 4 a5 8 LS (60N)

a.1.2m/s?
b. 0.5 m/s?
c.2.0m/s?

d. 0.4 m/s?

Which of the following objects is not in equilibrium?

SO A B (et AN b e s

a. Abook atrestonatable s Je osSull s 8 LS

b. c. A parachute falling with terminal velocity d:aall de jully Laius 41k

c. d. Atrain moving with a constant velocity 4 dc jun & oty Ui

d. Acarmovingin a constant acceleration <ulg jlui & a3 )l
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The figure shows a box at rest on a table. There are three forces acting on the box,
but it is not moving. Which one is the normal force
O Gt Gaial) b S o g el iy Agls o 0 sSud) pudag b B gaia JSAN) i

453 ganl) 358l L& s sl ola éi oaky

F1
A. F _ _
B. F>
C. F;
F2
D. FiandFz

The figure shows two forces acting on a motorbike, 650 N Forward and 250 N
backward. What 1s the net force acting on the motorbike?

5l o e alall 250N 5a! ) 650N ¢« 4 bdal jo e ol 55 (8 @ S =aasy
od Ul Asl all e 35 pal) Alas )

650 N
—
a. 400 N forward L1 b. 400 N backward «alall )
c. 900 N forward sk ) d. 900N backward sl )
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A net force of 30.0 N accelerates a block at 6.0 m/s? . What is the mass of the
block?

ALl e o Le 6.0my/s? o ake Lo jludi Leauis ALK Lo 30.0N W laie dliasa 5 8 i
a.3.0kg
b. 0.2 kg
c.5kg

d. 180 kg

Which of the following is a field force? fJias 5 8 (& b L i
a. Gravitational force 43l 5 58

b. Tension force 2.4l &

c. Normal force 4.3 seall 3 53l

d. Friction force <<iay)s g

Which of the following equations is correct according to the diagram below?

Solial Jabaseall s dovumnss AW SYslaall S

A+C=E R+E= A
C+D—-E=4A C-D=R

Mr. Adham Zewin - 0505084733
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1 2 3
Fn
50.0 N
50.0 N
Fn
FN
mg mg mg

Which of the following diagrams apply Fn < mg
Fn<mg @i 400 clabial) e gl
O 1only
O 2only

O 3only
0 2and 3

Newton's second law of motion states that the acceleration of an object is directly
proportional to the net force acting on it and inversely proportional to which of the
following?

slig ke 835001 Asaeall 853l o L3 Csslilly ) £3Ld OF e 38,2l JWI 5908 06 (el

A) Its mass 4aliS

)
B) Its velocity Aie s
C) Itsdisplacement 4}

)
D) Its volume dana

Mr. Adham Zewin - 0505084733
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In the graph below, what is the force being exerted on the 20 kg cart at t= 3s?

Tt=3s () 2ie 20 kg LalsS () Lyl e 8,350 B9all Lo cobioT L) puny)l (3

Acceleration- time graph

B i
(=) o o

Acceleration (m/s?) g i3l

n
o

0.0

1.0 20 3.0 4.0

Time (s) &=

A) 196N B) 120N C) 3.4N D) 20N

A block 1s resting on a rough surface. The coefflicient of static friction between the
block and the surface is (0.2). The normal force acting on the block 1s (50 N). What
1s the maximum static friction force that the surface can exert on the block?

J}Lu.l C_]a.ujllj AR O hija.u.H Sl<ia Y| J..QLLA_)\‘J.A J.S. ll_"ld \_).u.;. C_]n.u. g_lc_ 3_)9.1.;...«:4.‘1.\5

o sSaall KA 558l V) n]) Lo (5ONT) s gt ALSH e 5 figall 403 saall 3680 5 ¢ (0.2)
AN e bl Lo i o) oSe il

a.10N b.250N

c.50N d.25N

What is the cause of all accelerations? 8 bt gl Gigaa (B ) g4 L

a. Unbalanced forces ) siall e sl b. Balanced forces 4 sl (5 5l
c. Normal force 430 5anll 5 58l d. Friction forces NSl (o A
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Which of the following is the force exerted from one surface on another when

there is no motion between the two surfaces?

?M\Qﬁa&ﬁdﬁje&ﬂbéﬁ‘c&aéﬁc&a&ﬁﬂ}d\ﬁﬂ\gﬁgﬁgw(ﬁ

a. Static friction = SsSull dliay) s @
b. Kinetic friction S all diay)s g8
c. Normal force 433 ganl) 5 58l

d. Tension 25 5 68

Four forces are acting on a block as shown 1n the figure. What 1s the net force on the
block?

15N

10N 10N

e ——m

7N

v

O 8.0Nup S
O 8.0Ndown  Jid
0 20 N right Cradll
O N
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What is the correct name for force 1?

2 Motion
A) Normal force —
B) static friction ,I E
C) kinetic friction m - '
D) Weight l
w

The figure below of the kinetic friction vs normal force for a block pulled along different

surfaces (A,H,R,Z) shows a linear relationship between the two forces for each surface.
Which of the following statements is correct?

299 (AH,R,Z) dalise cia.,.ui e Dgzeun ALS) Lo gaall 553l Jilie é)zdl SN obial Kl T2 9
§dousuo AW Ohlall g ST zdaw S 5481 on dddasdl A3l

Kinetic Friction Force v. Normal Force
(3oalacadt 35301 — S o) LS ¥1 393) imie

"0 1 2 3 4 5 B8 7 8 9 10
(N saslaz )l 5gal)
Normal force (N)

A)  (HK)z<(pk)r<(pK)a
B)  (Ha<(H)u<(pk)z
C)  (Hk)z<(pk)n <(Kk)r
D) (uk)u <(uk)a<(pk)z
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According to Newton's first law of motion, an object will remain at rest or continue moving
at a constant velocity unless acted upon by which of the following?

b lea gl e 58 Al Lo B0l e sy A8 ally iy o USLus B ) (013 S Al J 50 (555 53080 L

An unbalanced force )l sie e B8
A balanced force L) gias
A zero net force L jhadliasasgd

Two forces equal in magnitude and opposite in direction

slai¥) L lisliia s laiall & ol sbucia (58

Maryam pulls a box with a horizontal force of 20 N so it’s moving with a constant speed
on a horizontal table. The coefficient of kinetic friction between the table and the box is
(0.25). What is the weight of the box?
T 0 Sy ISY! Jolas 42l gls e Ll e 3yoeted 20 N (S9laad dx281 892 Bt muye amxd
C@gdiall 0jg b L(0.25) $slus Gykivally dgllall

20N

2 2

40 N
80N
320N

o O
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As shown in the figure below, a string exerts a force of 25 N on a 10 kg box at an angle of
34° with the horizontal. What is the x-component of the force on the box?

Lo .Y ae 34° 4591 50 10 kg i€ Bgaiia e 25 N s jlaia b8 lad i (JSEN 3 mnge g LS
G saiall o 5 %l 5l 4yl 48 L)

34°

20.7N

T 2

14N
81.2N

~— S

54.8 N

What is the magnitude of the y-component of vector A?
TA dziall Ldgenl) LS 1)l dasd Lo

10

- X
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What is the correct name for force 1?

A) Normal force Fy

B) friction force F¢

C)mg
D) mg sin@

What is the correct name for force 3?

A) Normal force Fy

B) friction force F¢

C) mg

D) mg sind

Mr. Adham Zewin - 0505084733
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Two dogs are pulling a sled carrying food packages. One dog pulls with a force
of 40 N and the other pulls with a force of 60N as shown in the figure. The
total mass of the sled and the packages 1s 50 kg. What 1s the acceleration the

sled?

B s ;&13(401\1)3554%&@1_;1,?L;L.;;@;J.u:aéy)g%gus
faay Hll dlae 8 L (50kg) < gaall g an U 4K ALKT JSEN 8 i g0 98 LS (60N)

------------------------------------------------------------------------------------------------------------------------------------
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Use these words to complete the table: equilibrant - resultant vector

........................................................................................................

is the vector sum of all forces acting | is the force that, when added to the resultant,

on an object. brings the system to equilibrium

Two horizontal forces are exerted on a large crate. The first force is 317 N to the right.

The second force is 173 N to the left.

a. Draw a force diagram for the all force vectors acting on the crate

b. What is the net force acting on the crate?

.......................................................................................................................................

Mr. Adham Zewin - 0505084733
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Apparent weight is the reading of the scale: 1000 N. ¢

The true weight is 700 N.

a) calculate the acceleration

(b) Upward accelaration

a = (1000 - 700) / m
=300/71.4= 420 m/s?

b) if another person with mass 60 Kg is using the Elevator and the elevator

accelerates upward with acceleration of 4.20 m/s?. Find the apparent weight

c) if another person with a mass of 70 Kg is using the Elevator and the elevator

accelerates downward with acceleration of 4.20 m/s?. Find the apparent weight

Mr. Adham Zewin - 0505084733
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Weight vs. Weightlessness:

« The weight of an object is the force of gravity acting on it, given by ....ceeeceeeeeees

Free Fall and Absence of Normal Force:

« When an objectis in free fall, the support force (normal force) becomes

.................. , and, we feel ...................... even though gravity still acts on us.

mg — weightless - zero

You first walk 8.0 km north from home then walk east until your displacement

from home is 10.0 km.

10.0 km. Jjiall ¢ dand A dblaal) Casal a5 & ol 5al) (o Ylad 8.0 kim 8 dusa ¥ 5 &

How far east did you walk &, Lgiaké ) Al L

In which direction from + x axis (East) you moved
CS Al X+ gaall e olail 6
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Mr. Ahmed is dragging a box from his office to his car. The box and books together

have a combined weight of 134 N. If the coefficient of static friction between the

pavement and the box is 0.55

Aiay) Jalaa 1S 13,134 N s Lagd s il Ve il g (5 gaiall A b ) 4584 (e B gala Gy dan) 3ol

<0.55 (@sdinall g isa ) (oA gSad)

How hard must Mr. Ahmed push horizontally on the box in order to start it moving

Ay a0 b fand (3 gaiall o B8 5 gaial) danl ) aday o cuag o qaag Al B 6l )aka Lad
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